

**Exercice 40 : effectuer les calculs**

---

Pour chaque cas, transforme la soustraction en addition puis effectue le calcul.

$$A = (-12) - (+15)$$

$$A = (-12) \dots (\dots 15)$$

$$A = (\dots \dots)$$

$$B = (-45) - (-41)$$

$$B = (-45) \dots (\dots 41)$$

$$B = (\dots \dots)$$

$$C = (+32) - (+27)$$

$$C = (+32) \dots (\dots \dots)$$

$$C = (\dots \dots)$$

$$D = (-2,6) - (+2,7)$$

$$D = \dots \dots \dots$$

$$D = \dots \dots \dots$$

$$E = (-1,4) - (-2,3)$$

$$E = \dots \dots \dots$$

$$E = \dots \dots \dots$$

$$F = (-3,7) - (+5,7)$$

$$F = \dots \dots \dots$$

$$F = \dots \dots \dots$$